


29,935,400

27,214,000

L=33.0m

A=494.1m2

t=10cm

A=551.6m2

[ERN




06 06 15

06 04

06 04

05




H00100

29,935,400
H00200
29,935,400
02
K0002
29,935,400
Q00001

29,935,400




02

K0002
1 29,935,400
v
1 14,036,216 = 924,000
W
1 976,079
( )(
( )B SPK203-0001 -13
53. m3 13,417 715,126 1
SP210110-0001 -1 -1
6.5kn  DID 59. m3 4,282 253,494 1
SP210610-0001 ]
59. m3 126 7,459 2
W
1 6,769,444
SP220010-0001 -2- 41
551 m2 3,703 2,042,574 3
10cm 500 1000m2 $810810-0002 -2- 1
551 m2 8,505 4,691,358 2
VU@ 50 D0001
m 1 184 193 35,512 1
W
1 4,333,926
D0002
230: m2 8,860 2,038,686 2




500m2 L0021
264 m2 4,660 1,230,240
1
A=200m2 D0003
1 730,680 730,680 3
2
A=64m2 D0004
1 334,320 334,320 4
W
1 1,591,967 1 924,000
D0005
5 132,680 663,400 5
D0O006
52:5 m2 17,687 928,567 6 1 924,000
W
1 364,800
S010210-0001 -5-21-1
24 15,200 364,800 3
P0000001
14,036,216
HO3701
1 2,403,654
(
H00802
1 4,200
H20003
1 4,200




( TT9940 P555
910 4,200 4,200
« D

H00803
2,399,454

13,533,302*17.73% Q00910
2,399,454

HO0600
16,439,870

15,936, 956*39. 220 Q00601
6,250,474

H00500
22,690,344

22,187,430%20.35%+8, 874 Q00501
4,524,016

H00400
27,214,000

27,214,000%10. 00% 00401
2,721,400

Q00402

29,935,400




1 (D0001)

Ve 50
@Gn2 1 . )
SP224720-0001
0.09 m2 998 89 4
50mm 4 / SQ0115-0001
0.1 1,047 104 4
P0O000001
193
P0O000002
193




2 (D0002)
100 m2
500m2 L0019
100 m2 4,200 420,000
500m2 L0020
100 m2 4,660 466,000
P0000001
886,000
P0000002

8,860




3 (D0003)

1 A=200m2
3x 7 G/0 ¢ 16 L0001 p.382
168 520 87,360
3x 7 6/0 ¢ 12 L0002 p.382
74 340 25,160
@ 3.2 50x 50 Z-GS3 L0003 p.382
222 m2 1,270 281,940
0 16 L0004 p.382
16 2,130 34,080
012 L0005 p.382
10 1,750 17,500
)
4.5tx 60x 75 L0006
32 1,190 38,080
)
3.2tx 60x 60 L0007
6 1,080 6,480
@ 3.2 50x 300 L0008 p.382
206 280 57,680
TSK
D32(M30)x 1100 L0009
12 15,200 182,400
P0000001
730,680
P0000002

730,680




4 (D0004)

2 A=64m2
3x 7 G/0 ¢ 16 L0010 p.382
84 520 43,680
3x 7 6/0 ¢ 12 L0011 p.382
24 340 8,160
@ 3.2 50x 50 Z-GS3 L0012 p.382
71 m2 1,270 90,170
0 16 L0013 p.382
10 2,130 21,300
012 L0014 p.382
6 1,750 10,500
)
4.5tx 60x 75 L0015
13 1,190 15,470
)
3.2tx 60x 60 L0016
2 1,080 2,160
@ 3.2 50x 300 L0017 p.382
76 280 21,280
TSK
D32(M30)x 1100 L0018
8 15,200 121,600
P0000001
334,320
P0000002

334,320




5 (D0005)
[ 1
600mm 0.080L TN12004731 P2-1-92
1,080 1,080
(
19 20m L0022 p.803
60,000 60,000
[0.852(3/1  0.847)] TR0030 P932
900 22,000 44,000
[0.796(3/1  0.793)] TR0120 P932
900 27,600 27,600
P0000001
132,680
P0000002

132,680




(D0006)

10 m
( , 117,600 )
)( )
SP320560-0001 -2- -1
10 m2 52 520 5
32.0km  DID SP320580-0001 -2- -1
C ) 0 m2 3,592 359 6
( )
TFDO63H117 P37
() 11,000 kg 16 176,000 : 176,000
P0000001
176,879
P0000002
17,687

10




1 (SPK203-0001)

( X( ()8 10 m3
-13 , )
TR01002 R-1
3 27,700 83,100
TR01003 R-1
2 22,000 44,000
L E - 2 )]
5.0m3/min 0.7MPa TF03024 F-1
1 1,750 1,750
JIS1 2 TJQO502 J-73
37 140 5,180
TM10600511 p2-1-44
1 145 145
P0000001
134,175
P0000002
13,417
1
(KW)=FUNC_KFACT((KSc),6) )
39=FUNC_KFACT(TM31200251,6)
(NH)=(KW)x 0.159 1
6.2=39x 0.159
(ky)=(NH)x 6x (CR)
37.2=6.2x 6% 1
[Al=1 ( DB [B] =
[vl1=1

11




2 (5810810-0002)
10cm 500 1000m2 m2
( , ) ( -2- -1 , )
( )
10cm TTA125 P604
€00 m2 8,505 8,505
P0000001
8,505
P0000002
8,505
[ ]
(sjt)=FUNC_TANKA((SJc))
8,100=FUNC_TANKA(TTA125)
(SID=(sjt)x {1 (S)+ 100}x (K3)
8,505=8100x (1 5+ 100)x 1
[ 1
[Al1= 6 10cm [B] = 500 1000m2
[cr=1 [F1 =

12




3 (5010210-0001)
( -5-21-1 ) )
B
[0.902(3/1  0.904)] TR0900 P935
900 1 15,200 15,200
P0000001
15,200
P0000002
15,200
1
[Bl] = 2

13




4 (SQ0115-0001)

50mm 4 / 10
( -29 3 )
@ 50mm JIS-K6741 L=4m TP05035 P-47
2.44 839 2,047
T#99
2 2,047 40
TR01001 R-1
0.07 29,200 2,044
TR01002 R-1
0:11 27,700 3,047
TR01003 R-1
0:15 22,000 3,300
P0000001
10,478
P0000002
1,047
L 1
(S1)={10.0 (LD}+ (L2)
2.44=(10.0 0.25)+ 4
[ 1
[A] = 1 4 / [B] = 1 50mm

14




1 (SP210110-0001)

1 m3
(6.5km DID , « ) ) ( -1- -1 4,282
Q) ()
19.19
2 TM103000121 p2-1-21
17.303 740.9 19.19 4,873 4,873
71.06
[0.821(3/1 0.816)] TRO130 P932
900 73.774 3,159 71.06 21,100 24,300
9.75
( ) TT0250 P247
910 8.916 381.8 9.75 138 140
0.007 0.3
[ 1
(At014)=FUNC_KIKAI ((At013),0)
4,710=FUNC_KIKAI(TM103000121,0)
(At016)=FUNC_TANKA((At015)) @t )
163=FUNC_TANKA(TFM0004)
(At017)=(At014) (At016)
4,873=4710 163
[ 1
(G 3,860.9 x {
(19.19 100x 4,873 4,873)x 19.19 19.19
(71.06 100x 24,300 21,100)x 71.06 (71.06

(9.75 100x 140 138)x 9.75 9.75

15




1 (SP210110-0001)

1 m3
(6.5km DID , « ) ) ( -1- -1 , ) 4,282
() (%)
(100 19.19 71.06 9.75) 100} 4,282
1
[J1] =3 [32] = 7
[33] = 1 ( ) [J41 =1 DID DID
[JH] = 9 6.5km

16




2 (SP210610-0001)

1 m3
-1- -1 126
Q) ()
24.02
[ 1
0.8m3( 0.6m3) TK9203 P568
BOO 24.421 30.77 24.02 8,800 9,490
49.00
[0.796(3/1 0.793)] TR0120 P932
900 50.389 63.49 49.00 25,300 27,600
26.98
( ) TT0250 P247
910 25.802 32.51 26.98 138 140
-0.612 -0.77

1
(P) 118.79 x {

(24.02 100x 9,490 8,800)x 24.02 24.

(49.00 100x 27,600 25,300)x 49.00
(26.98 100x 140 138)x 26.98 26.98

02
49.00

(100 24.02 49 26.98) 100}

126

1
[91] = 1

17




3 (SP220010-0001)
1 m2
( , ) ( -2- -1 , 3,703
%) )
100.00
[0.852(3/1  0.847)] TR0030 P932
900 38.617 1,430 40.76 22,300 22,000
[0.784(3/1  0.783)] TR0020 P932
900 38.131 1,412 36.84 25,700 27,700
[0.772(3/1  0.771)] TR0010 P933
900 14.977 554.6 14.15 26,500 29,200
«C )
8.250 305.5
0.025 0.9
[
(P) 3,557.4 x {
(40.76 100x 22,000 22,300 36.84 100x 27,700 25,700 14.15 100x 29,200 26,500)x 100.00 (40.76 36.84 14.15)

(100 100) 100} 3,703

[

]
[J1]

[J3

el

=2
[34] =3

I
S

[J5

ol

18




4 (SP224720-0001)
1 m2
( -2- -1 998
Q) ()
25.39
[0.852(3/1 0.847)] TR0030 P932
900 16.743 167.1 21.67 22,300 22,000
[0.772(3/1 0.771)] TR0010 P933
900 3.210 32.04 3.72 26,500 29,200
74.61
t=10mm 9.8KN/m TT0862 P267
B0O 80.090 799.3 74.61 540 740
-0.043 -0.44

1
(P*) 781.83 x {

(21.67 100x 22,000 22,300 3.72 10
(74.61 100x 740 540)x 74.61 74.61

(100 25.39 74.61) 100}

998

0x 29,200 26

,500)x 25.39 (21.67

3.72)

19




5 (SP320560-0001)

( )( ) 1 m2
( -2- -1 , 52
Q) ()
28.18
2
0.45m3( 0.35m3) TM502002221 p2-1-10
22.038 11.46 23.16 10,500 10,500
[
1700 2000mm 400 750mm TM12006822 p2-1-20
4.769 2.48 5.02 2,270 2,270
61.75
[0.796(3/1 0.793)] TR0120 P932
900 35.673 18.55 34.37 25,300 27,600
[0.772(3/1 0.771)] TR0010 P933
900 20.192 10.5 19.27 26,500 29,200
[0.852(3/1 0.847)] TR0030 P932
900 7.596 3.95 8.11 22,300 22,000
10.07
( ) TT0250 P247
910 9.712 5.05 10.07 138 140
0.020 0.01
(G 49.493 x {
(23.16 100x 10,500 10,500 5.02 100x 2,270 2,270)x 28.18 (23.16 5.02)
(34.37 100x 27,600 25,300 19.27 6,500 8.11 100x 22,000 22,300)x 61.75 (34.37 |19.27 8.11)

(10.07 100x 140 138)x 10.07 10.07

ﬂOOX 29,200 2

20




5 (SP320560-0001)

( )(

)

( -2- -1

m2

52

()

Q)

(100 28.18 61.75 10.07) 100}

5

1
[J1] = 2

[J2] = 1

21




6 (SP320580-0001)

( ) 32.0kn  DID 1 m2
( , C ) ) ( -2- -1 3,592
Q) ()
47.54
10 TM103000521 P2-1-21
44850 1,611 47.54 20,667 20,667
38.10
[0.821(3/1  0.816)] TR0130 P932
900 41.398 1,487 38.10 21,100 24,300
14.36
( ) TT0250 p247
910 13.744 493.7 14.36 138 140
0.008 0.3
[ 1
(At009)=FUNC_KIKAI((At008),0)
20,000=FUNC_KIKAI(TM103000521,0)
(At011)=FUNC_TANKA((At010)) ot )
667=FUNC_TANKA(TFM0404)
(At012)=(At009) (AtO11)
20,667=20000 667
[ 1
(P*)  3,380.2 x {
(47.54 100x 20,667 20,667)x 47.54 47.54
(38.10 100x 24,300 21,100)x 38.10 38.10
(14.36 _100x 140 138)x 14.36 14.36

22




6 (SP320580-0001)
( ) 32.0kn  DID 1 m2

( , C ) ) ( -2- -1 , ) 3,592

() Q)

(100 47.54 38.1 14.36) 100} 3,592

[ 1
[J1] = 2 [J2] = 2
[331=1 DID DID [38] = 20 32.0km
[JB] = 1

23




